5) A W o A B
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Of & Ab & & A
ol orw 2t
THoh 2 ek o)
THoh - Mol e s el E )
- A(ZAH) - MRAY - BES Ofl &F 4 I ZH Hnsz
el 39,050,219 321,884 9,728,335
2 2,654,327 1909, 138 £254,811
< 824,552 808,552 16,000
Al 35,571,340 ,604,194 9,967,146
X M ol 1,755,942 . 794,141 A 38,199
2 2,877 2,877 0
< 314,552 298,552 16,000
Al 1,438,513 492,712 A54,199
THoh - T ol & S 1,245,150 283,349 238,199
2 2,877 2,877 0
= 314,552 298,552 16,000
Al 927,721 981,920 A54,199
B Y HHEPE 377,073 387,865 A10,792
201 Lt 2 bl 350,853 361,645 A10,792
02 B2 344,453 355,245 £10,792
OMLargra o 232,769 243,561 A10,792
S MY 0 O 2x 10,000 20,000 A10,000
201 22 bl 10,000 20,000 £10,000
01 AR 22l 10,000 20,000 210,000
O3 S MY TS 10,000 20,000 10,000
HISAEE MEHEA 220,293 253,700 733,407
401 Al 2 = CH | 220,293 253,700 733,407
01 Al&H] 220,293 253,700 £.33,407
ON3ZALS HHEANES 220,293 253,700 33,407
202140 B} MAAIL X = 16,000 0 16,000
= 16,000 0 16,000
SIEEEEE 16,000 0 16,000
= 16,000 0 16,000
NEEEEPEE! 16,000 0 16,000
OFANE yeigs
5008 * 1,280% 16,000 0 16,000
= 16,000 0 16,000
=X 5,289,580 6,150,903 A861,314
2 2,645,450 2,900,261 ~254,811
= 25,842 25,842 0
Al 2,618,297 224,800 606,503
SEE U HaTH e 370,137 395,137 25,000
2 7.540 7,540 0
= 9,084 9,084 0
Al 353,513 378,513 25,000
ATiH EE A 8,080 33,080 25,000
201 22 bl 8,080 33,080 25,000
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M AISIOHE B
Za: olge 29

SRl IYWRIER U HIAMNHIES AAl CERED
SN BB SR(EH) - MBAY - BES 0l &t o p/E-T HDE2

01 AL 22l bl 6,080 31,080 225,000

Osggegads 29 2,080 3,080 A 1,000

OSXEHIes HAZY S A0 4,000 11,000 A7,000

OSXEHIUE Ho £2F 7Y 0 1,200 A1,200

OSXH2E AN RIDMW ME 0 1,200 A1,200

OSXEHIAEE HIE 7Y 0 2,145 ~2,145

OSXE=s sam, B NI 0 1,080 A1,050

OSXEH=os 222 M 0 775 ATTS

Ol THEI &R EIIR S41H| 0 3,840 A3,840

OBlgAT Xa Al 0 5,600 A5,600

OFpAD 822 HHE 0 1,190 A1,190

JETE PR 190,864 210,864 £20,000

2 23,940 23,940 0

< 16,758 16,758 0

Al 150,166 170,166 £20,000

DY BRAIA 22 60,520 80,520 £20,000

201 YLEr2 A H| 60,520 80,520 £20,000

02 23Sl 60,520 80,520 £20,000

OYALBAE RN2S4BY 45,520 65,520 £20,000

AE=Rof 2l 4,240,594 5,056,908 £816,314

2 2,613,970 2,868,781 £254,811

Al 1,626,624 2,188,127 A561,503

MNISRRAEA 5222 1,626,624 2,188,127 A 561,503

301 YPRHI 1,626,624 2,188,127 A561,503

B ASZSRLALLS 1,626,624 2,188,127 A561,503

0123 745,263 989,094 243,831

OS2 8,142 18,000 ~9,858

OSAHI (MBI ZXAIE Z8) 782,200 1,008,000 225,800

OnsY| 73,020 122,400 £49,380

OL=HI(S - 5t=) 17,999 50,633 £32,634

NEEEY = 2,613,970 2,868,781 ~254,811

2 2,613,970 2,868,781 ~254,811

301 YPRHI 2,613,970 2,868,781 £254,811

2 2,613,970 2,868,781 £254,811

B ASZRLALLS 2,613,970 2,868,781 £254,811

ONBZRR B2 2,613,970 2,868,781 £254,811

-23 2,306,640 2,537,304 £.230,664

2 2,306,640 2,537,304 £.230,664

— DS 215,000 258,804 743,804

2 215,000 258,804 743,804

— T = 92,330 72,673 19,657

2 92,330 72,673 19,657
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AlRIOHE 2

el

Hu: HRES(ASHD)

el WRAAXS (Sl &&)

SA-EB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
HRES(AQCHA 2 31,036,519 20,408,671 10,627,848
HEHHXE 27,350,427 17,350,427 10,000,000
He2edls 823 27,350,427 17,350,427 10,000, 000
702 JISHES 27,350,427 17,350,427 10,000,000
01 JI=sd=E=2 27,350,427 17,350,427 10,000,000
OM:t2el =z 27,350,427 17,350,427 10,000,000
RSN 3,686,092 3,058,244 627,848
gHE = 3,686,092 3,058,244 627,848
802 Bret =2 JI Bt 3,686,092 3,058,244 627,848
01 =2n2x3eeE= 635,457 8,445 627,012
ONEZE 2=0 /HIH FZAY MOl X 8 0 8
OA=l=2HE A& 627,004 0 627,004
02 Al - EHIEXZSEHEZ 3,050,635 3,049,799 836
03I ¢S ZdAY 307 0 307
OZJl& otMEd ZHAY LHOIXt 250 0 250
ONEZE 2=0 /HIIH F2Z A MOl X 2 0 2
OZJE MEi=Eas Na 2F 2dolX 273 0 273

OZJE MHII=24AS NS 2d HASEE +

2 2Ol Xt 4 0 4
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